(a) the angular velocity of the rod, (b) the velocity of B. (Only por-
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tions of the two tracks are shown.) /
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15.91 The disk 1s released from rest and rolls down the incline. Knowing 02 m
that the speed of A 1s 1.2 m/s when & = 0°, determine at that instant > A
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Fig. P15.107 and P15.108

15.109 Knowing that point A 1s moving to the right at a constant speed of | / \
20 in./s, determine the acceleration of (a) point B, (b) point D. '
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13.175 A l-kg block B is moving with a velocity v, of magnitude vy = 2 m/s

- / /
as it hits the (.5-kg sphere A, which is at rest and hanging from a cord Mﬂx" MpV ="\ T*\Y%
attached at 0. Knowing that g, = 0.6 between the block and the hori- )
zontal surface and ¢ = (.8 between the block and the sphere, deter-
rine after impact (¢) the maximum height # reacl he sphere, . = / /
mine after impact (¢) the maximum height / reached by the sphere H(, 1°2%=0% Ky ‘/fi + Ik, A

(b) the distance x traveled by the block.
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